Rows of coins

You have 5 nombers:

1,2,5,10,and 20

Pot them in a row vsing these cloes:

The total of the first 3 nombers is 27.

The total of the last 3 numbers is 3.

The last nomber is doouble the valoe if the first
nomber.

Remember, your sequence only has 5 nombers.,




Day 1: Row of Coins
You have 5 nombers: 1,2,5,10, and 20

Pot them in a row vsing these clues:
o The total of the first 3 numbers is 27.
o The total of the last 3 numbers is 31.
e The last number is double the valve if the first nomber.




